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Chapter 6 Assessment. Complete these problem to make sure that you are prepared for the test.

1. If f{x) = 2x*+7 and g(x) = -3(x - 9), find the value of each expression below.
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3. Subtract and simplify the following expressions:
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5. Graph on Isometric graph paper
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a. Sketch a graph of the solution to the equation: 4x+6y+3z :w24 b. Graph the point (2,3,5). What are three other
' W R points that have the same isometric dot position?
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6. Solve for x, y, and# in the system of equations at below. /
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9. In parts (a) through (b), rewrite each expression as a single logarlthm In parts (c) through (f), solve each equation.
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10. Find the equation of the exponential function that passes through the points (2, 264) and (6, 4044) and has a horizontal
asymptote at y = 12 (hint: think about 6.2.3 and use y = ab* + c.
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11. Find the inverse of each of the functions below. Write your answers in function notation.
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12. Define the vocabulary. You may use words, examples, pictures, symbols to convey what you mean.

Togarithm:

Power property of logs:
Asymptote:

X-intercepts:

Plane (in the context of algebra 2):

13. Graph the system: (hint: one of them is a line, one is a parabola {extra credit if you complete the square to put it into y = a(x — R)? +k})

° y=;x+3 ?‘;‘Hf?” f ¥ P 4 3,*'{27 -3
¢ y=x%-2x-3 ' 6‘157 ot | 35— _
| ‘;): 2 2¢-3 | w=0F-200) 3
o= (x-3X)) | y=3
= ¥z3 e x=-1 (Df—))

Gp) o)

%?ﬁ:{pfééc xZ-2x-3
) p.Solveyz@ﬁ
oy x «d } é.B,?)Hszg)

d. What is the difference between the answer toband @? Explain why this is so.
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b. Use the graph to solve %x +3=x2-2x-3.
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e. Solve and show the solution on a number line: =x + 3 < x% — 2x — 3.
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For problems f and g, solve by shading the appropriate region.
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